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(a) The model is given in solution of hw2. Check the AMPL model file ”case2-1.mod” and data
file ”case2-1.dat”. After solving, the objective value is 9 and we get * = (0,1, 1,0)

(a) Let the parameters be

I = the number of fabs, that is 8,

J = the number of items, that is 12,

K = the number of orders, that is 10,

Rj;. = Revenue from order k if it’s completed, k =1, ..., K,

H;; = the production rate that Fab i produces itemj, ¢ =1,...,I, j=1,...,J,
Q;i = the demand quantity of item j in Order k, j =1,...,J, k= 1,..k,

C; = the capacity of Fabi ,i=1,..., 1.

Let the decision variables be

Z;;5 = the production hour that Fab ¢ produces item j in order k, i =1,....,I, j=1,...,J, k=1,...

e = { 1 if the order k is completed k=1, K

0 otherwise
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(b) Check the AMPL model file ”case2-2.mod” and data file ”case2-2.dat”. After solving, the
maximum profit is 70900 and we get
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3.

(a) Let the parameters be

I = the number of fabs, that is 8,

J = the number of items, that is 12,

K = the number of orders, that is 10,

Sy, = the splitting costs of order k, k=1, ..., K,

R;. = Revenue from order k if it’s completed, &k =1, ..., K,

H;; = the production rate that Fab 7 produces itemj, i =1,....1, j=1,...,J,
Q;r = the demand quantity of item j in Order k, j =1,...,J, k=1,..k,

C; = the capacity of Fabi ,i=1,...,1.

Let the decision variables be

255 = the production hour that Fab ¢ produces item j in order k, i =1,....,I, j=1,...,J, k=1,...

| 1 if the order k is completed
5= 0 otherwise

~_ | 1 if fab ¢ produces for order k
%ik =1 0 otherwise
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(b) Check the AMPL model file ”case2-3.mod” and data file ”case2-3.dat”. After solving, the

maximum profit 50070 and we get
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1 0o 0 0 0 0 0 O 0 0 0 0 0
2 6o 0 0 0 0 0 O 0 0 0 0 0
3 0 0 0 0 O O 250 8 150 O 0 0
4 6o 0o 0 0 0 0 O 0 200 O 0 0
5 o 0o 0 0 0 0 O 0 0 0 0 0
6 0 0 15 8 0 O O 60 O 0 0 0
7 6o 0 0 0 0 0 O 0 0 0 0 0
8 o 0 0 0 0 0 O 0 0 0 0 0
9 o 0o 0 0 0 0 O 0 0 0 0 0
10 6o 0o 0 0 0 0 O 0 0 0 0 0
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